
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

1 13Sunday, August 08, 2010

SB-T35x    01. INDEX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

1 13Sunday, August 08, 2010

SB-T35x    01. INDEX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

1 13Sunday, August 08, 2010

SB-T35x    01. INDEX

SB-T35

CM-T35 INTERFACE

DVI & LVDS

ETHERNET

POWER

CONNECTORS - 1

CONNECTORS - 2

LEVEL SHIFTERS

FUNCTIONPAGE

1

2

3

4

5

6

7

8

MISC

9

INDEX

10

USB HUB

JUMPERS & MISC11

12 MECHANICS

REV 1.3

ZZ1

PARSER_VERSION_1.0

P/N = 188Z10030

ZZ1

PARSER_VERSION_1.0

P/N = 188Z10030

SB-T35  PCB 1.3

PCB1

SB-T35  PCB 1.3

PCB1



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

GPMC_A6

GPMC_A4
GPMC_A2

GPMC_D0
GPMC_D1GPMC_D2

GPMC_D4
GPMC_D6
GPMC_D8
GPMC_D10
GPMC_D12

GPMC_D14

GPMC_D3

GPMC_A5

GPMC_A1
GPMC_A3

GPMC_A7

GPMC_D5
GPMC_D7

GPMC_D9
GPMC_D11
GPMC_D13
GPMC_D15

VCC_MMC

LCD_VIO

VCC_CM VCC_CM

CAM_D2_CON 6,7,11CAM_D3_CON6,7,11
CAM_D4_CON 6,7,11

CAM_D5_CON6,7,11 CAM_D6_CON 6,7,11
CAM_D7_CON6,7,11 CAM_D8_CON 11

MMC1_DAT26

CAM_D9_CON11

MONITOR_SENSE_PER 8

CHARGER_FAULT5

CAM_XCLKA_CON6,7,11

CHARGER_STATUS_PER8
CAM_PCLK_CON 6,7,11

CAM_VS_CON6,7,11

CAM_FLD/CAM_RST6,7,11
CAM_STROBE_CON 6,7,11

CAM_HS_CON6,7,11

TS_Y+ 6,7

BKBAT11

SYS_CLKOUT1 6

CM_ETH_TXP 7

AUDIO_OUT_L10

AUDIO_OUT_R10

AUDIO_IN7

USB1_VBUS7,10

USB1_DM7
USB1_DP7

CM_ETH_TXN 7

LCD_D15 11

CM_ETH_LED2 7

LCD_D1611 LCD_D17 11

LCD_D1811
LCD_D19 11

LCD_D2011
LCD_D21 11

LCD_D2211 LCD_D23 11

LCD_D1 11

ADC_IN06 ADC_IN1 6

LCD_D211

LCD_PCLK11

LCD_HSYNC11

LCD_VSYNC 11
LCD_ACBIAS11

LCD_D3 11
LCD_D411 LCD_D5 11
LCD_D611
LCD_D711 LCD_D8 11
LCD_D911 LCD_D10 11

LCD_D11 11

LCD_D12 11
LCD_D1311
LCD_D1411

EPROM_WP11

USB0_DP7
USB0_DN7 USB0_ID 7

SYS_nRESWARM6

GPIO61 8
GPMC_nOE 4

GPMC_nWE4

GPIO548

GPIO58 10
GPIO596

GPMC_A[7:1]4

GPMC_D[15:0]4

MMC1_CD 6

LCD_D0 11

EXT_REG_EN5

CM_ETH_RXN7
CM_ETH_RXP7

CM_ETH_LED17

TS_X- 6,7

I2C3_SDA/GPIO1854,5,6,7

TS_Y- 6,7

GPMC_nCS4 4

I2C3_SCL/GPIO184 4,5,6,7

MMC1_DAT16
MMC1_DAT36

MMC1_CLK6
MMC1_CMD 6
MMC1_DAT0 6

NAND_LOCK 11

GPIO1644

UART1_RTS/GPIO149 8
UART1_CTS/GPIO150 8

USB0_5V_OUT7

GPIO65 4

PWRON6

PMIC_LED_B 6
PMIC_LED_A 6

JTAG_nTRST 6
JTAG_TMS 6
JTAG_TDI 6

JTAG_TCK6
JTAG_RTCK6

JTAG_EMU06
JTAG_EMU16

JTAG_TDO 6

HDQ_SIO/GPIO1706

TV_OUT2 6
TV_OUT1 6

MMC_BOOT 11

I2C2_SDA/GPIO1836
I2C2_SCL/GPIO168 6

UART1_TX/GPIO1488
UART1_RX/GPIO1518

McBSP1_CLKR/SPI4_CLK/GPIO1568
GPIO1578

McBSP1_DX/SPI4_SIMO/GPIO1588
McBSP1_DR/SPI4_SOMI/GPIO1598

McBSP1_FSX/SPI4_CS0/GPIO161 8
GPIO162 8

McBSP3_DX/UART2_CTS/GPIO140 8
McBSP3_DR/UART2_RTS/GPIO141 8

McBSP3_CLKX/UART2_TX/GPIO1428
McBSP3_FSX/UART2_RX/GPIO1438

RS232_RXD6

USB2_VBUS 9,10

USB2_DM/USBHUBP1_DM 9
USB2_DP/USBHUBP1_DP 9

USB2_CPEN 9,10

RS232_TXD6

TS_X+ 6,7

nRST_IN 11

GPMC_A104

KPD_R06

KPD_R26
KPD_R36
KPD_R46
KPD_R56

KPD_R16
KPD_C0 6

KPD_C1 6
KPD_C2 6
KPD_C3 6
KPD_C4 6
KPD_C5 6

GPIO1678

CAM_D1_CON6,7,11 CAM_D0_CON 6,7,11

CAN_TX_3V310
CAN_RX_3V310

ETH_BOOT_PU 12
PWR_GOOD12

MONITOR_SENSE_PER 8

USBHUBP3_DP 7
USBHUBP3_DM 7

USBHUBP2_DP7
USBHUBP2_DM7

CHARGER_FAULT 5CMUSBHP1_nOVC 12

SYS_nIRQ/GPIO012

3517_AUDIO_R_IN12
MIC_BIAS 12

PER_IS3V313

CMUSBHP3_nOVC 13

CMUSBHP2_nOVC 13

CMUSBHP2_EN13

CMUSBHP3_EN 13

CMUSB1_EN13

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

2 13Monday, November 01, 2010

SB-T35x    02. CM-T35 INTERFACE
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

2 13Monday, November 01, 2010

SB-T35x    02. CM-T35 INTERFACE
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

2 13Monday, November 01, 2010

SB-T35x    02. CM-T35 INTERFACE

BASEP2

CON140

BASEP2

CON140

1

5
7
9
11
13

3

15
17
19

103

21

25
23

27

135

29
31

133

33

140

35
37
39

43
41

45
47
49
51

131

53
55
57
59
61

67

63
65

69
71

75

127

77
79
81
83
85

91

87
89

93
95
97

121

99
101

129

109

115116

123
125

119
122

138

111

132

137

73

2
4
6
8

10
12
14
16
18
20

108

24
26
28

139

32
30

34
36

105

22

38

114

40
42
44
46

50
48

52

56
58
60
62
64
66
68
70
72
74
76
78
80
82
84
86
88
90
92

96

100
98

102
104

113

106

112
110

117

54

136

118
120

107

124
126

130
128

134

94

BASEP1

CON140

BASEP1

CON140

1

5
7
9
11
13

3

15
17
19

103

21

25
23

27

135

29
31

133

33

140

35
37
39

43
41

45
47
49
51

131

53
55
57
59
61

67

63
65

69
71

75

127

77
79
81
83
85

91

87
89

93
95
97

121

99
101

129

109

115116

123
125

119
122

138

111

132

137

73

2
4
6
8

10
12
14
16
18
20

108

24
26
28

139

32
30

34
36

105

22

38

114

40
42
44
46

50
48

52

56
58
60
62
64
66
68
70
72
74
76
78
80
82
84
86
88
90
92

96

100
98

102
104

113

106

112
110

117

54

136

118
120

107

124
126

130
128

134

94



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

ISEL

BSEL
DSEL

VREF

DVI_DESKEW_ENABLE

DVI_DESKEW_ENABLE DVI_RISINGEDGE_ENABLE

F_S_ADJ

FULL_SCALE_ADJUST

FULL_SCALE_ADJUST

DESKEW_MSB
DESKEW_MIDDLE_BIT
DESKEW_LSB

DESKEW_MIDDLE_BIT
DESKEW_MSB

DVI_PVDD

DVI_TVDD

DVI_DVDD

PLL_LVDS

VCC_LVDS

DESKEW_LSB

LVDS_R_FB

DCLKM

LVDS_R_FB

DCLKM

D0PD2P

D1P

D0MD2M

D1M

DCLKP

DCLKP

DVI_RISINGEDGE_ENABLE

D0P
D0M

D1P
D1M

D2M
D2P

ISEL BSEL DSEL

VREF

VCC3_3
VCC3_3

VCC3_3

VCC3_3 VCC3_3 VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3 VCC3_3 VCC3_3

VCC3_3

LCD_ACBIAS_T6,7,11

LCD_D0_T7,11
LCD_D1_T6,7,11
LCD_D2_T6,7,11
LCD_D3_T6,7,11
LCD_D4_T6,7,11
LCD_D5_T6,7,11
LCD_D6_T6,7,11
LCD_D7_T6,7,11
LCD_D8_T6,7,11
LCD_D9_T6,7,11

LCD_D10_T6,7,11
LCD_D11_T6,7,11
LCD_D12_T7,11
LCD_D13_T6,7,11
LCD_D14_T6,7,11
LCD_D15_T6,7,11
LCD_D16_T6,7,11
LCD_D17_T6,7,11
LCD_D18_T11
LCD_D19_T11
LCD_D20_T11
LCD_D21_T11
LCD_D22_T11
LCD_D23_T11

LCD_PCLK_T11

LCD_D16_T6,7,11

LCD_D2_T6,7,11

LCD_PCLK_T11

LCD_ACBIAS_T6,7,11

LCD_D4_T6,7,11

LCD_D6_T6,7,11
LCD_D7_T6,7,11

LCD_D9_T6,7,11

LCD_D13_T6,7,11
LCD_D14_T6,7,11
LCD_D15_T6,7,11

LCD_D17_T6,7,11

LCD_D1_T6,7,11

LCD_D3_T6,7,11

LCD_D5_T6,7,11

LCD_D8_T6,7,11
LVDS_P0 7

LCD_D10_T6,7,11
LCD_D11_T6,7,11

LCD_D12_T7,11

LCD_D0_T7,11

LVDS_N0 7

LVDS_P1 7
LVDS_N1 7

LVDS_P2 7
LVDS_N2 7

LVDS_PCLK 7
LVDS_NCLK 7

MONITOR_SENSE 8

nPOWER_DOWN8

LVDS_SHDN8

DVI_TXC+ 6

DVI_TXC- 6

DVI_TXD_2- 6

DVI_TXD2+ 6

DVI_TXD1- 6

DVI_TXD1+ 6

DVI_TXD0+ 6

DVI_TXD0- 6

LCD_VSYNC_T6,7,11
LCD_HSYNC_T6,7,11

LCD_HSYNC_T6,7,11
LCD_VSYNC_T6,7,11

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

3 13Monday, November 01, 2010

SB-T35x    03. DVI + LVDS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

3 13Monday, November 01, 2010

SB-T35x    03. DVI + LVDS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

3 13Monday, November 01, 2010

SB-T35x    03. DVI + LVDS

LVDS TRANSMITTERDVI TRANSMITTER

DVI HARDWARE CONFIGURATION & CONTROL

DNP

CLOCK EDGE
STRAP

LVDS TRANSMITTER STRAPS

IF I2C IS DISABLED
& DESKEW ENABLED:
USED TO ADJUST THE SETUP &
HOLD TIMES OF THE PIXEL
DATA WITH PIXELCLOCK

NOTE: see datasheet for more
information

DESKEW STRAPS

ASSEMBLY OPTIONS:
THIS CONTROLS 
THE OUTPUT SIGNAL SWING 
AND SHOULD BE 
SET TO 510 OHMS

NOTE: see datasheet for 
more information

OUTPUT SWING 
ADJUST

CLOCK EDGE 
STRAP/ HOT PLUG 
DETECT

DNP

IF I2C DISABLED:
1 = RISING EDGE CLOCK
0 = FALLING EDGE CLOCK

ASSEMBLY OPTIONS:
1 = RISING EDGE CLOCK
0 = FALLING EDGE CLOCK

IF I2C IS DISABLED 
& DESKEW ENABLED:
1 = DESKEW (DEFINED 
BY DESKEWSTRAPS) ENABLED
0 = DESKEW (DEFINED 
BY DESKEW STRAPS) DISABLED

DESKEW ENABLE
STRAP

DNP

PLACE AS CLOSE AS 
POSSIBLE TO 
DVI CONNECTOR (J2)

DNP

DNP

DNP

I2C ENABLE
STRAP

ASSEMBLY OPTIONS:
1 = I2C INTERFACE ENABLED
0 = I2C INTERFACE DISABLED

IF I2C ENABLED
THIS SIGNAL IS USED
FOR HOT PLUG DETECTION

IF I2C IS DISABLED
& DESKEW DISABLED:
THESE ARE THREE
ADDITIONAL CONTROL INPUTS
(FOR HDCP & MORE)

IF I2C IS ENABLED 
THIS SHOULD BE TIED TO GND IF I2C IS ENABLED

THOSE CONTROL I2C 
ADDRESS LSB

IF I2C DISABLED:
1 = INPUT IS 24
BIT SINGLE EGDE
0 = INPUT IS 12
BIT DUAL EGDE

IF I2C ENABLED
THIS SIGNAL
IS USED
AS I2C CLOCK

INPUT MODE
SELECT/I2C
CLOCK

DNP

DNP

CLOCK MODE
SELECT/I2C
DATA

IF I2C DISABLED:
DETERMINES WITH VREF PIN
THE PIXEL CLOCK INPUT
(DIFFERENTIAL OR SINGLE-ENDED)
NOTE: see datasheet
for more information

IF I2C
ENABLED
THIS SIGNAL
IS USED
AS I2C DATA

VREF ADJUST

ADJUSTS INPUTSIGNALS VOLTAGE REFERENCE, 
SEE DATASHEET FOR MORE INFORMATION

PLACE AS CLOSE AS 
POSSIBLE TO 
DVI CONNECTOR (J2)

DVI OUTPUT EMI REDUCTION

C9
100nF

C9
100nF

R11
4.75K/1%
R11
4.75K/1%

L1
EMI 0603-60
L1
EMI 0603-60

L3
EMI 0603-60
L3
EMI 0603-60

C5

10nF

C5

10nF

C8
100nF

C8
100nF

R154
1.15K/1%
R154
1.15K/1%

4.7uF

C95

4.7uF

C95

C13

100nF

C13

100nF

R10
4.75K/1%
R10
4.75K/1%

R8
10K/1%
R8
10K/1%

R1
4.75K/1%
R1
4.75K/1%

R18
4.75K/1%
R18
4.75K/1%

L17

MURATA_DLP11SN900SL2

L17

MURATA_DLP11SN900SL2

1

4 3

2

C7
100nF

C7
100nF

C4
100nF

C4
100nF

L5

EMI 0603-330

L5

EMI 0603-330

R13
255R/1%
R13
255R/1%

R19
4.75K/1%
R19
4.75K/1%

4.7uF

C96

4.7uF

C96

R3

10K/1%

R3

10K/1%

C1
100nF

C1
100nF C6

100nF

C6

100nF

C3
100nF

C3
100nF

U1

DS90C365 (18 bit LVDS transmitter)

U1

DS90C365 (18 bit LVDS transmitter)

IN0/R044

IN1/R145

IN2/R247

IN3/R348

IN4/R41

IN5/R53

IN6/G04

IN7/G16

IN8/G27

IN9/G39

IN10/G410

IN11/G512

IN12/B013

IN13/B115

IN14/B216

IN15/B318

IN16/B419

IN17/B520

IN18/HSYNC22

IN19/VSYNC23

IN20/ENA25

CLK_IN26

PD#27

OUT0_M 41
OUT0_P 40

OUT1_P 38

OUT1_M 39

OUT2_P 34

OUT2_M 35

CLK_O_P 32

CLK_O_M 33

PLL_VCC 29
PLL_GND 28

PLL_GND 30

VCC 2

VCC 8

VCC 21

R_FB14 LVDS_GND 31

LVDS_GND 36

LVDS_GND 42

LVDS_VCC 37

NC43

GND 5

GND 11

GND 17

GND 24

GND 46

10uF

C12

10uF

C12

R12
4.75K/1%
R12
4.75K/1%

L16

MURATA_DLP11SN900SL2

L16

MURATA_DLP11SN900SL2

1

4 3

2

R2
4.75K/1%
R2
4.75K/1%

R15
255R/1%
R15
255R/1%

L19

MURATA_DLP11SN900SL2

L19

MURATA_DLP11SN900SL2
1

4 3

2

R17
4.75K/1%
R17
4.75K/1%

C2

100nF

C2

100nF

U2
TFP410
U2
TFP410

PD063

PD162

PD261

PD360

PD459

PD558

PD655

PD754

PD853

PD952

PD1051

PD1150

PD1247

PD1346

PD1445

PD1544

PD1643

PD1742

PD1841

PD1940

PD2039

PD2138

PD2237

PD2336

TXD0+ 25
TXD0- 24

TXD1+ 28
TXD1- 27

TXD2+ 31
TXD2- 30

TFADJ 19

TXC+ 22

TXC- 21

DK27

DK18

IDCK+57

IDCK-56

DE2

VSYNC5

HSYNC4

BSEL/SCL15

DSEL/SDA14

HTPLG 9

NC 49
RSVD2 34

DKEN 35

VREF3

T
G

N
D

32
T

G
N

D
26

T
G

N
D

20
D

V
D

D
33

D
V

D
D

12

D
G

N
D

16

P
G

N
D

17

P
V

D
D

18
T

V
D

D
23

T
V

D
D

29

D
G

N
D

48

MSEN 11DK36

ISEL/RESET13
PD10

D
V

D
D

1

D
G

N
D

64

R6
1.15K/1%
R6
1.15K/1%

L2
EMI 0603-60
L2
EMI 0603-60

R16
4.75K/1%
R16
4.75K/1%

R14
10K/1%
R14
10K/1%

R5
4.75K/1%
R5
4.75K/1%

R153
1.15K/1%
R153
1.15K/1%

C14

100nF

C14

100nF

C10 100nFC10 100nF

R9
4.75K/1%
R9
4.75K/1%

C11

10nF

C11

10nF

L4
EMI 0603-330
L4
EMI 0603-330

L18

MURATA_DLP11SN900SL2

L18

MURATA_DLP11SN900SL2

1

4 3

2

R4
1.15K/1%
R4
1.15K/1%

R152
1.15K/1%
R152
1.15K/1%



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

GPMC_T_A10

ETH_TEST

SMSC_EEPROM_CLK

ADMIX_EN

EXTRES

GPMC_T_nOE
GPMC_T_nWE

ETH_XTAL_OUT

ETH_XTAL_IN

GPMC_D11

GPMC_D12
GPMC_D13
GPMC_D14
GPMC_D15

GPMC_D1
GPMC_D2

GPMC_A6

GPMC_A1

GPMC_A3
GPMC_A2

GPMC_A4

GPMC_A7

GPMC_A5

GPMC_D3

GPMC_D4
GPMC_D5
GPMC_D6
GPMC_D7

GPMC_D8
GPMC_D9
GPMC_D10

GPMC_D0 GPMC_T_D0
GPMC_T_D1
GPMC_T_D2
GPMC_T_D3

GPMC_T_D4
GPMC_T_D5
GPMC_T_D6
GPMC_T_D7

GPMC_T_D8
GPMC_T_D9
GPMC_T_D10
GPMC_T_D11

GPMC_T_D12
GPMC_T_D13
GPMC_T_D14
GPMC_T_D15

GPMC_T_A1
GPMC_T_A2
GPMC_T_A3
GPMC_T_A4

GPMC_T_A5
GPMC_T_A6
GPMC_T_A7

GPMC_T_A1
GPMC_T_A2
GPMC_T_A3
GPMC_T_A4
GPMC_T_A5
GPMC_T_A6
GPMC_T_A7

GPMC_T_D0
GPMC_T_D1
GPMC_T_D2
GPMC_T_D3
GPMC_T_D4
GPMC_T_D5
GPMC_T_D6
GPMC_T_D7
GPMC_T_D8
GPMC_T_D9
GPMC_T_D10
GPMC_T_D11
GPMC_T_D12
GPMC_T_D13
GPMC_T_D14
GPMC_T_D15

GPMC_T_A10
GPMC_T_nOE
GPMC_T_nWE

GPMC_T_nCS4

GPMC_T_nCS4

SMSC_EEPROM_DIO
SMSC_EEPROM_CS

EEPROM_DO

I2C_EEPROM_WP
I2C_EEPROM_A2
I2C_EEPROM_A1
I2C_EEPROM_A0

I2C_EEPROM_A0
I2C_EEPROM_A1
I2C_EEPROM_A2I2C_EEPROM_WP

SMSC_EEPROM_DIO
SMSC_EEPROM_CLK
SMSC_EEPROM_CS

VCC3_3

VCC3_3

ETH_VDDA

ETH_VDDA

VCC3_3

ETH18CORE

ETH_VDDA ETH18CORE

VCC_PER

VCC_PER

VCC_PER

VCC_PER

VCC_PER

VCC_PER

VCC_PER
VCC_PER

VCC_PER VCC_PER VCC_PER

GPMC_A[7:1]2
GPMC_D[15:0]2

GPMC_nOE2
GPMC_nWE2

GPIO652

GPIO1642

SB_ETH_RXN 7

SB_ETH_TXP 7

SB_ETH_TXN 7

SB_ETH_RXP 7

GPMC_A102
GPMC_nCS42

I2C3_SDA/GPIO185 2,5,6,7
I2C3_SCL/GPIO184 2,5,6,7

SB_ETH_LED2 7
SB_ETH_LED1 7

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

4 13Monday, November 01, 2010

SB-T35x    04. Ethernet
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

4 13Monday, November 01, 2010

SB-T35x    04. Ethernet
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

4 13Monday, November 01, 2010

SB-T35x    04. Ethernet

MAC ADDRESS EEPROM (LAN9220 INTERFACED)

NOT POPULATED BY DEFAULT

MAC ADDRESS EEPROM (I2C3)

LOCAL BUS TERMINATION

I2C EEPROM
WRITE PROTECT

1 = EEPROM WRITE PRODECTED
0 = EEPROM NOT WRITE PROTECTED.

DNP

I2C_EEPROM_A[2:0] DETERMINE THE
EEPROM DEVICE BASE ADDRESS 
LAST THREE BITS (LSB)

I2C EEPROM
ADDRESS LSB

DNP

SMSC LAN9220 DECOUPLING

SMSC LAN9220 MAC & PHY

DNP

RN4
33R/8P4R
RN4
33R/8P4R

1
2
3
4

8
7
6
5

RN8
33R/8P4R
RN8
33R/8P4R

1
2
3
4

8
7
6
5

C29

100nF

C29

100nF

C20

100nF

C20

100nF

U32

24C02

U32

24C02

A01

A12

A23

GND4 SDA 5
SCL 6
WP 7

VCC 8

C25

100nF

C25

100nF

10uF

C18

10uF

C18

R138
10K/1%
R138
10K/1%

RN6
33R/8P4R
RN6
33R/8P4R

1
2
3
4

8
7
6
5

R139
4.75K/1%

R139
4.75K/1%

L6
EMI 0603-330

L6
EMI 0603-330

C23

100nF

C23

100nF

C17 33pFC17 33pF

C32

100nF

C32

100nF

C34

100nF

C34

100nF

U33

93C66

U33

93C66

CS 1

SK 2

DI 3

DO 4GND5
N/C6
N/C7
VDD8

C172

100nF

C172

100nF

C24

100nF

C24

100nF

R113
4.75K/1%

R113
4.75K/1%

R137
10K/1%
R137
10K/1%

4.7uF

C28

4.7uF

C28C27

100nF

C27

100nF

R24
1M/5%

R24
1M/5%

R109
4.75K/1%

R109
4.75K/1%

R106
4.75K/1%
R106
4.75K/1%

X1 25.000MHzX1 25.000MHz

1
3

42

RN3
33R/8P4R
RN3
33R/8P4R

1
2
3
4

8
7
6
5

RN2

51R/8P4R

RN2

51R/8P4R

1 2 3 4

8 7 6 5

C31

100nF

C31

100nF

R105
4.75K/1%

R105
4.75K/1%

R21
4.75K/1%
R21
4.75K/1%

R104
4.75K/1%
R104
4.75K/1%

4.7uF

C35

4.7uF

C35

R20 12.4K/1%R20 12.4K/1%

R140
4.75K/1%

R140
4.75K/1%

C171

100nF

C171

100nF

RN1

51R/8P4R

RN1

51R/8P4R

1 2 3 4

8 7 6 5

R224.75K/1% R224.75K/1%

RN7
33R/8P4R
RN7
33R/8P4R

1
2
3
4

8
7
6
5

R26
10K/1%

R26
10K/1%

C33

100nF

C33

100nF

U4

LAN9220

U4

LAN9220

D036

D135

D234

D333

D432

D531

D629

D728

D827

D926

D1025

D1123

D1222

D1321

D1420

D1519

A112

A211

A310

A49

A58

A67

A76

nRD15

nWR16

nCS17

AMDFIX_EN52

FIFO_SEL13

IRQ43

TEST14

V
D

D
33

R
E

G
1

V
D

D
V

A
R

IO
18

V
D

D
V

A
R

IO
24

V
D

D
V

A
R

IO
30

V
D

D
V

A
R

IO
56

V
D

D
33

A
46

V
D

D
33

A
49

V
D

D
33

A
51

V
D

D
18

A
53

V
D

D
18

C
O

R
E

2

V
D

D
18

C
O

R
E

37

TPO+ 45

TPO- 44

TPI+ 48

TPI- 47

EXRES 50

EECLK/GPO4 40

EEDIO/GPO3 38

EECS 39

GPIO0/nLED1 3

GPIO1/nLED2 4

GPIO2/nLED3 5

PME 41

XTAL1/CLKIN 55

XTAL2 54

nRESET 42

V
S

S
(P

A
D

)
57

RN5
33R/8P4R
RN5
33R/8P4R

1
2
3
4

8
7
6
5

C21

100nF

C21

100nF

C16 33pFC16 33pF

C30

100nF

C30

100nF

R25
4.75K/1%

R25
4.75K/1%

4.7uF

C97

4.7uF

C97 C19

100nF

C19

100nF

RN9
33R/8P4R
RN9
33R/8P4R

1
2
3
4

8
7
6
5

R111
4.75K/1%
R111
4.75K/1%

C26

100nF

C26

100nF

C22

100nF

C22

100nF

R234.75K/1% R234.75K/1%



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

EB_PWR_SW

EB_PWR_EAO

EB_PWR_HG

FB_PRE

EB_PWR_SW_RC

EB_PWR_SS

EB_PWR_BOOT

PGD

E
B

_P
W

R
_V

C
C

EB_PWR_ISEN

EB_PWR_FB

EB_PWR_FSEL

EB_PWR_EAO_RC

EB_PWR_LG

VCC1_8_FB

CH_TIMER

V2P8_ADAPTER_PRESENT

IREF
IMIN

VPROG

SUP_VDD
SUP_VIN

VCC_3V_FDB

3V3LD_A

VCC1_5_FB

VCC2_8_FB

CHRGLED_C

C
H

R
G

LE
D

_A

PWRLED_A

PSS

PSW_C

AMPOUTPUT

VREFDC
VZENER

VCC_5V

VCC_5V

VCC_CM

VCC3_3

VCC1_8

VCC_5V

VCC_BAT VCC1_5

VCC_BAT

VCC3_3

VCC3_3

VCC_CM

VCC3_3
VCC2_8

VCC3_3
VCC_PER

VCC_5V

VCC_DC

VCC_CM

VCC_CM

VCC_CM

VCC_BAT VCC_CM

VCC_DC

V_EARLY

VCC_DCVCC_BAT

VCC_DC

V_EARLY

V_EARLY

V_EARLY

BT_NTC 6

EXT_REG_EN2

EXT_REG_EN2

EXT_REG_EN2

I2C3_SDA/GPIO1852,4,6,7
I2C3_SCL/GPIO1842,4,6,7

CHARGER_FAULT2

BAT_GND 6

EXT_REG_EN2

CHARGER_ENABLE11

CHRG_STATUS8

PSW_C 5

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

5 13Monday, November 01, 2010

SB-T35x    05. POWER
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

5 13Monday, November 01, 2010

SB-T35x    05. POWER
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

5 13Monday, November 01, 2010

SB-T35x    05. POWER

DC POWER SUPPLY + DCDC 5V-to-3.8V (Vbat)

3.3V REGULATOR

1.8V REGULATOR

R46 DETERMINES THE
UPPER CURRENT LIMIT
WHEN THE BATTERY IS
CHARGED IN THE CONSTANT
CU7RRENT MODE.
CURRENT CONFIGURATION:
R46=56.2K -> 1424mA

BATTERY CHARGER CAMERA VOLTAGE REGULATORS

ASSEMBLY OPTIONS.
R53 NOT ASSEMBLED = PROGRAMMING MODE (U10)
R53 ASSEMBLED = NORMAL OPERATION (U10)
CURRENT CONFIGURATION:
NORMAL OPERATION

BATTERY 
CHARGE SUPERVISOR

R46 DETERMINES THE
UPPER CURRENT LIMIT
WHEN THE BATTERY IS
CHARGED IN THE CONSTANT
VOLTAGE MODE.
CURRENT CONFIGURATION:
R45=165K -> 48.5mA

DNP

R142 SHOULD ONLY BE ASSEMBLED WHEN
THE REGULATOR IS NOT ASSEMBLED AND
THE SYSTEM IS POWERED DIRECTLY FROM
3.3V

POWER LED
(VCC_CM)

R36 = 4.99K => VCC_DC = 4.2V
R36 = 5.62K => VCC_DC = 3.8V

if using the manual power switch option, 
R36 should be 5.62K
otherwise it should be 4.99K 

DNP

DNP

POWER SOURCE 
SWITCH

EARLY
POWER
SUPPLY

POWER SOURCE SELECTING LOGIC

PSW_C net is the source control:
PSW_C is HIGH --> SYSTEM IS POWERED BY DC INPUT
PSW_C is LOW --> SYSTEM IS POWERED BY BATTERY

DNP

R35

7.5k 1%

R35

7.5k 1%

GND

VCC

U22
7SZ07

GND

VCC

U22
7SZ07

4 2

3
5 C104

1uF

C104

1uF

Q5

NDS332P

Q5

NDS332P1

32

C127

100nF

C127

100nF

C63

10nF

C63

10nF

C61

100nF

C61

100nF

R37 4.75K/1%R37 4.75K/1%

C
12

5
10

0n
F

C
12

5
10

0n
F

R45
165k,1%,0402
R45
165k,1%,0402

U40

LMV358

U40

LMV358

OUT11

IN1-2

IN1+3

GND4 IN2+ 5
IN2- 6

OUT2 7
VCC 8

R54
0.018R 0.5W
R54
0.018R 0.5W

C55

1uF/X5R/6.3V

C55

1uF/X5R/6.3V

R86
56.2K

.
1%

R86
56.2K

.
1%

10uF

C54

10uF

C54

C48

1uF/X5R/6.3V

C48

1uF/X5R/6.3V

R47

39.2K/1%

R47

39.2K/1%

D5 MBRD-835LD5 MBRD-835L1
4

3

C43

10nF

C43

10nF

D
13

M
M

S
Z

46
81

T
1

D
13

M
M

S
Z

46
81

T
1

C60

1uF

C60

1uF

R32 30K/1%R32 30K/1%

R
16

8
9.

1K
/1

%
R

16
8

9.
1K

/1
%

C51

2.2nF

C51

2.2nF

R34
100K
R34
100K

4.7uF

C49

4.7uF

C49

R31
475R/1%
R31
475R/1%R33 71.5K/1%R33 71.5K/1%

R48
10K/1%
R48
10K/1%

R
16

7
30

K
/1

%
R

16
7

30
K

/1
%

C37

1uF

C37

1uF

DS2
LED-RED
DS2
LED-RED

4.7uF

C103

4.7uF

C103

R27
10R
R27
10R

C39

100nF

C39

100nF
47uF

C38

47uF

C38

R44 60.4R/1%R44 60.4R/1%

DS1

LED-GREEN

DS1

LED-GREEN

4.7uF

C42

4.7uF

C42

10uF

C53

10uF

C53

C561uF/X5R/6.3V C561uF/X5R/6.3V

R166 0RR166 0R

R29
22.1K/1%
R29
22.1K/1%

R41
200R/1%

R41
200R/1%

C
12

6
10

0n
F

C
12

6
10

0n
F

100uF

C69

100uF

C69

Q1
NDS8926
Q1
NDS8926

1

2

3

4 5

6

7

8

L7
IND DELTA MPL73-2R2 2.2uH 14A

L7
IND DELTA MPL73-2R2 2.2uH 14A

R
16

5
17

.8
K

 / 
1%

R
16

5
17

.8
K

 / 
1%

U7

LP3965EMP-ADJ

LP3965EMP-ADJ

U7

LP3965EMP-ADJ

LP3965EMP-ADJ

Vin2

GND

5

SD1 ADJ 4

Vout 3

C50

10nF

C50

10nF

L
M

2
7

4
3

U6

LM2743

L
M

2
7

4
3

U6

LM2743

BOOT1

LG2

PGND3

SGND4

VCC5

PWGD6

ISEN7

HG 14

PGND 13

SD 12

FREQ 11

FB 10

SS/TRACK 9

EAO 8

U5
Si9183DT-AD-T1

Si9183DT-AD-T1

U5
Si9183DT-AD-T1

Si9183DT-AD-T1

IN1

GND

2

SHDN3 FB 4

OUT 5

C41 1nFC41 1nF

C57

22nF

C57

22nF

R38
17.8K/1%
R38
17.8K/1%

U10

DS2786

U10

DS2786

AIN11

AIN02

SCL3

SDA4

SNS5 VSS 6

VPROG 7

VOUT8

VIN 9
VDD 10

P
A

D
11

R43
4.75K/1%

R43
4.75K/1%

R87
43.2K/1%
R87
43.2K/1%

R159

10K/1%

R159

10K/1%

R53
0R
R53
0R

C52

82pF

C52

82pF

C40 100nFC40 100nF

4.7uF

C62

4.7uF

C62

R46
56.2K

.
1%

R46
56.2K

.
1%

DS3

LE
D

-G
R

E
E

N

DS3

LE
D

-G
R

E
E

N

R28
0R

R28
0R

C47

2.2nF

C47

2.2nF

R40
10.5K/1%
R40
10.5K/1%

P3
Pad
P3
Pad11

R1420R R1420R

100uF

C45

100uF

C45

C46

100pF

C46

100pF R36
4.99K/1%
R36
4.99K/1%

U9
Si9183DT-AD-T1

Si9183DT-AD-T1

U9
Si9183DT-AD-T1

Si9183DT-AD-T1

IN1

GND

2

SHDN3 FB 4

OUT 5

D2
BAT54WS
D2
BAT54WS

R49
47K
R49
47K

GND

VCC

U41
7SZ07GND

VCC

U41
7SZ07

42

3
5

R39

80.6R/1%

R39

80.6R/1%

C70

10nF

C70

10nF

R42
4.75K/1%
R42
4.75K/1%

D1
Transzorb, 5.8V
D1
Transzorb, 5.8V

R30
47K
R30
47K

100uF

C44

100uF

C44

U8

ISL6291

U8

ISL6291

VIN1

FAULT2

STATUS3

TIME4

V
IN

16

V
IN

15

V
B

A
T

14

V
B

A
T

13

VBAT 12

TEMP 11

IMIN 10

IREF 9

G
N

D
5

T
O

E
N

6

E
N

7

V
2P

8
8

E-PAd17

D12
BAT54C
D12
BAT54C

1
3

2

Q4

NDS332P

Q4

NDS332P 1

3 2

C100

100nF

C100

100nF

U27
Si9183DT-AD-T1

Si9183DT-AD-T1

U27
Si9183DT-AD-T1

Si9183DT-AD-T1

IN1

GND

2

SHDN3 FB 4

OUT 5

R50 1K/1%R50 1K/1%

47uF

C36

47uF

C36

R51 150R/1%R51 150R/1%

100uF

C68

100uF

C68



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

MMC1_CMD

MMC1_CLK

MMC1_DAT1

MMC1_DAT0 MMC1_DAT3

MMC1_DAT2

TV1
TV2

DVI_5V

LCD_PWR_SRC

CAM_CLK_T

VCC3_3

VCC_MMC

VCC_MMC

VCC_BAT

VCC_5V

VCC_5V
VCC3_3

VCC3_3

VCC_PER

VCC_PER
VCC_PER

VCC_CMVCC_PER

JTAG_TCK2
JTAG_RTCK2

JTAG_nTRST 2

JTAG_TDO2

McBSP3_DX/UART2_CTS/GPIO140_C 8
McBSP3_FSX/UART2_RX/GPIO143_C8,11

McBSP3_CLK/UART2_TX/GPIO142_C8,11

MMC1_CD 2

GPIO59 2
MMC1_CLK2

MMC1_DAT12

MMC1_DAT32

MMC1_DAT02

MMC1_DAT22

MMC1_CMD2

TV_OUT22
TV_OUT12

KPD_R02
KPD_R12
KPD_R22
KPD_R32

KPD_R42
KPD_R52

KPD_C02
KPD_C12
KPD_C22
KPD_C32

KPD_C42
KPD_C52

DVI_TXD0-3
DVI_TXC+3

DVI_TXC-3

DVI_TXD_2-3

DVI_TXD2+3

DVI_TXD1+3

DVI_TXD1-3
DVI_TXD0+3

LCD_ACBIAS_T3,7,11

LCD_HSYNC_T3,7,11
LCD_VSYNC_T3,7,11

LCD_D1_T3,7,11
LCD_D2_T3,7,11

LCD_D3_T3,7,11
LCD_D4_T3,7,11

LCD_D6_T3,7,11
LCD_D7_T3,7,11

LCD_D5_T3,7,11

LCD_D8_T3,7,11
LCD_D9_T3,7,11

LCD_D10_T3,7,11
LCD_D11_T3,7,11

LCD_D13_T3,7,11

LCD_D14_T3,7,11
LCD_D15_T3,7,11

LCD_D16_T3,7,11
LCD_D17_T3,7,11

LCD_PCLK_T27,11

TS_X+2,7

TS_X-2,7

TS_Y+2,7
TS_Y-2,7

LCD_RST7,8

BT_NTC5

I2C2_SCL/GPIO168 2
I2C2_SDA/GPIO183 2

ADC_IN0 2

BAT_GND5

UART1_CTS_C8
UART1_RX_C8,11

McBSP3_DR/UART2_RTS/GPIO141_C 8
UART1_TX_C 8,11

SPI4_CS07,8
SPI4_SOMI7,8

SPI4_SIMO 7,8

UART1_RTS_C 8
SPI4_CLK 7,8

HDQ_SIO/GPIO1702

ADC_IN12

JTAG_TMS2
JTAG_TDI2

JTAG_EMU02 JTAG_EMU1 2

RS232_TXD2

RS232_RXD2

SYS_nRESWARM2

PMIC_LED_A2

SYS_CLKOUT1 2

PMIC_LED_B 2

PWRON2

CAN_VCC10

CAN_L10
CAN_H10

CAN_GND10

TS_X+2,7

TS_Y- 2,7

TS_Y+ 2,7

TS_X-2,7

I2C3_SDA/GPIO1852,4,5,7

I2C3_SCL/GPIO1842,4,5,7

CAM_VS_CON2,7,11

CAM_HS_CON2,7,11

CAM_STROBE_CON2,7,11

CAM_D7_CON2,7,11

CAM_D6_CON2,7,11

CAM_D5_CON2,7,11

CAM_D4_CON2,7,11

CAM_D3_CON2,7,11

CAM_D2_CON2,7,11
CAM_D1_CON2,7,11

CAM_D0_CON2,7,11

CAM_XCLKA_CON2,7,11

CAM_PCLK_CON2,7,11

CAM_FLD/CAM_RST2,7,11

5V_I2C2_SDA4
5V_I2C2_SCL4

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

6 13Monday, November 01, 2010

SB-T35x    06. Connectors1
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

6 13Monday, November 01, 2010

SB-T35x    06. Connectors1
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

6 13Monday, November 01, 2010

SB-T35x    06. Connectors1

JTAG CONNECTOR
REMOVE PIN6 FROM
HEADER BEFORE
SOLDERING!

UART1 + UART2/BSP3  HEADER
RS232 CONNECTOR

MISC. HEADER SD/MMC SOCKET

TV-OUT Conn.

KEYPAD CONNECTOR

BATTERY HEADER

HDMI (DVI) CONNECTOR

DC CONNECTOR ASSEMBLY OPTIONS.
1 = LCD USES INTERNAL POWER SUPPLY.
0 = LCD USES EXTERNAL POWER SUPPLY.

FPC LCD CONNECTOR

CAN HEADER

DNP

CAN VCC (5V), CAN BE PROVIDED BY SB-T35
ONLY WHEN THE SB-T35 IS POWERED BY A
DIRECT DC 5V POWER SOURCE.

TO PROVIDE CAN_VCC/CAN_GND BY AN EXTERNAL
DEVICE, PLEASE REMOVE R141/R144

DNP

DNP

TOUCHSCREEN HEADERS

VIDEO INPUT FPC

R590R R590R

P12P12

1
2
3
4
5

C
H

A
S

S
IS

C
H

A
S

S
IS

C
H

A
S

S
IS

C
H

A
S

S
IS

6
7
8

C184

10nF

C184

10nF

P25
1x4HDR

P25
1x4HDR

1
2
3
4

C176

100nF

C176

100nF

C66
200pF
C66
200pF

U12
IP4220CZ6

U12
IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4
P11
DR16SM
P11
DR16SM

1 2
3 4
5 6
7 8
9 10

11 12
13 14
15 16

R55
1K/1%

R55
1K/1%

R730R R730R

P10

FPC_20_05mm

P10

FPC_20_05mm

11

22

33

44

55

66

77

88

99

1010

1111

1212

1313

1414

1515

1616

1717

1818

1919

2020

C65 100nFC65 100nF

P26

FPC_40_05mm

P26

FPC_40_05mm

FLASH_STB1

FIELD2

I2C_SDA3

VCC_HIGH4

I2C_SCK5

nRST6

VSYNC7

nPWR_DN8

HSYNC9

GND10

GND11

PDATA912

VCC_HIGH13

PDATA814

VCC_IO15

PDATA716

VCC_IO17

PDATA618

PDATA219

PDATA520

PDATA321

PDATA422

GND23

PDATA024

GND25

PDATA126

GND27

PIX_CLK28

GND29

MCLK30

GND31

WE32

AFTR_RST33

OE34

SNPSHT35

SHTR36

NC37

NC38

NC39

NC40

J2

HDMI CON

J2

HDMI CON

SHELL1 20

SHELL2 21

D2+1

D2 Shield2

D2-3

D1+4

D1 Shield5

D1-6

D0+7

D0 Shield8

D0-9

CK+10

CK Shield11

CK-12

CE Remote13

NC14

DDC CLK15

DDC DATA16

GND17

+5V18

HP DET19

10uF

C131

10uF

C131

U11
IP4220CZ6

U11
IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4

R57
4.75K/1%
R57
4.75K/1%

J1

Power Jack 3A

J1

Power Jack 3A

1

2

3

C175
100nF
C175
100nF

P14

SVideoConn

P14

SVideoConn

P13

P25

P36

P48

MH1MH1

MH2MH2

MH3MH3

F1

Fuse, Resettable PTC, 0.75A Ih, 1.5A It

F1

Fuse, Resettable PTC, 0.75A Ih, 1.5A It

P13

CONN_SD

P13

CONN_SD

DAT31

CMD2

VSS13

VDD4

CLK5

VSS26

DAT07
DAT18
DAT29

CD 11

GND 14

WP 12

GND 13
GND 10

GND 15

R56
1K/1%

R56
1K/1%

C67
200pF
C67
200pF

C64

100nF

C64

100nF

E12E12

P9
DR16SM
P9
DR16SM

1 2
3 4
5 6
7 8
9 10

11 12
13 14
15 16

10uF

C129

10uF

C129

R163 4.75K/1%R163 4.75K/1%

E11E11

W2B HEADER

P5

W2B HEADER

P5

R580R R580R

P4

DR14TH

P4

DR14TH

1 2
3 4
5 6
7 8
9 10

11 12
13 14

P7

FPC_40_05mm

P7

FPC_40_05mm

11

22

33

44

55

66

77

88

99

1010

1111

1212

1313

1414

1515

1616

1717

1818

1919

2020

2121

2222

2323

2424

2525

2626

2727

2828

2929

3030

3131

3232

3333

3434

3535

3636

3737

3838

3939

4040

C185

10nF

C185

10nF

P6

TerminalBlk_10A

P6

TerminalBlk_10A

1

2



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

SBXDC

SBXDC

SBYLD

SBGLD

CMXDC

CMXDC

CMYLD

CMGLD

USB1_DP_E

USB0_DP_E

USB0_DN_E

USB0_DN_E
USB0_DP_E

SB_USBHUBP2_DM_E

SB_USBHUBP2_DP_E

SB_USBHUBP2_DM_E
SB_USBHUBP2_DP_E

SB_USBHUBP1_DM_E

SB_USBHUBP1_DP_E

SB_USBHUBP1_DM_E
SB_USBHUBP1_DP_E

USB1_DM_E

USB1_DP_E

USB1_DM_E

USBHUBP3_DM_E

USBHUBP3_DP_E

USBHUBP3_DM_E
USBHUBP3_DP_E

USBHUBP2_DM_E

USBHUBP2_DP_E

USBHUBP2_DM_E
USBHUBP2_DP_E

CAM_PCLK_T

CAM_nPWDN

VCC3_3

ETH_VDDA

ETH_VDDA VCC3_3

VCC3_3VCC3_3

VCC1_8VCC2_8 VCC1_5

SB_ETH_RXN4
SB_ETH_RXP4

SB_ETH_TXN4
SB_ETH_TXP4

CM_ETH_TXP2
CM_ETH_TXN2

CM_ETH_RXP2
CM_ETH_RXN2

LCD_ACBIAS_T 3,6,11

LCD_VSYNC_T 3,6,11

LCD_D0_T 3,11
LCD_D2_T 3,6,11
LCD_D4_T 3,6,11

LCD_D7_T 3,6,11
LCD_D9_T 3,6,11
LCD_D11_T 3,6,11
LCD_D12_T 3,11
LCD_D14_T 3,6,11
LCD_D16_T 3,6,11

LCD_PCLK_T2 6,11

SPI4_CS0 6,8SPI4_SOMI6,8
SPI4_SIMO6,8

SPI4_CLK6,8

TS_Y+ 2,6

TS_X-2,6
TS_Y- 2,6TS_X+2,6

LCD_RST6,8

LCD_D1_T3,6,11
LCD_D3_T3,6,11
LCD_D5_T3,6,11
LCD_D6_T3,6,11
LCD_D8_T3,6,11

LCD_D10_T3,6,11

LCD_D13_T3,6,11
LCD_D15_T3,6,11
LCD_D17_T3,6,11

LCD_HSYNC_T3,6,11

CM_ETH_LED22

CM_ETH_LED12

SB_ETH_LED24

SB_ETH_LED14

SB_USBHUBP2_VBUS11,13

SB_USBHUBP1_VBUS11,13

USB1_VBUS2,10

LVDS_PCLK 3
LVDS_NCLK 3

LVDS_P1 3
LVDS_N1 3

LVDS_P23
LVDS_N23

LVDS_P03
LVDS_N03

WLD_OUT10
WLD_CAT 10

AUDIO_IN2

USB0_5V_OUT2

USB0_ID2

USB0_DN2

USB0_DP2

SB_USBHUBP2_DM9

SB_USBHUBP2_DP9

SB_USBHUBP1_DM9

SB_USBHUBP1_DP9

USB1_DM2

USB1_DP2

USBHUBP3_DM2

USBHUBP3_DP2

CM_USBHUBP3_VBUS10

USBHUBP2_DM2

USBHUBP2_DP2

CM_USBHUBP2_VBUS10

AUDIO_OUT_R_F10

AUDIO_OUT_L_F10

I2C3_SDA/GPIO1852,4,5,6

I2C3_SCL/GPIO1842,4,5,6

CAM_STROBE_CON2,6,11

CAM_VS_CON2,6,11

CAM_HS_CON2,6,11

CAM_XCLKA_CON2,6,11

CAM_PCLK_CON2,6,11

CAM_FLD/CAM_RST2,7,11

CAM_D2_CON2,6,11

CAM_D3_CON2,6,11
CAM_D5_CON2,6,11

CAM_D4_CON2,6,11

CAM_D6_CON2,6,11

CAM_D7_CON2,6,11

CAM_D8_CON2,6,11

CAM_D9_CON2,6,11

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

7 13Monday, November 01, 2010

SB-T35x    07. Connectors2
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

7 13Monday, November 01, 2010

SB-T35x    07. Connectors2
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

7 13Monday, November 01, 2010

SB-T35x    07. Connectors2

BASE ETHERNET RJ45

CORE ETHERNET RJ45

TOPPOLY LCD CONNECTOR + BACKLIGHT DRIVERUSB PORTS

CONNECT SHLD 
PINS TO 
ADDITIONAL 
SHIELD

CONNECT SHLD 
PINS TO 
ADDITIONAL 
SHIELD

LVDS HEADER
AUDIO IN

AUDIO OUT

MODULE USB HUB  PORT 2 EMI REDUCTION

MODULE USB HUB PORT 3 EMI REDUCTION

MODULE USB HOST EMI REDUCTION

SB-T35 USB HUB PORT 1 EMI REDUCTION

SB-T35 USB HUB PORT 2 EMI REDUCTION

MODULE USB OTG EMI REDUCTION

MODULE USB OTG CONNETOR

SB-T35 USB HUB 
DUAL TYPE A CONNETOR

VBUS HERE IS ALWAYS CONTROLLED BY THE
SYSTEM. NO USER INTERVENTION NEEDED

VBUS IS EITHER
SUPPLIED BY DC-5V
SYSTEM INPUT
OR BY A CHARGE PUMP.

SEE PROVISIONS PAGE
FOR MORE INFORMATION
ON USB VBUS SUPPLY

MODULE (TI DIRECT) USB HOST HEADER
(PORT 1)

THIS HEADER CAN BE USED ONLY
IF SYSTEM IS POWERED BY A DC
5V INPUT

THIS HEADER CAN BE USED ONLY
IF SYSTEM IS POWERED BY A DC
5V INPUT

MODULE USB HUB PORT 3 HEADER

THIS HEADER CAN BE USED ONLY
IF SYSTEM IS POWERED BY A DC
5V INPUT

MODULE USB HUB PORT 2 HEADER

DNP

CAMERA CONNECTOR

CAMERA CONNECTOR SHOULD BE USED ONLY
WHEN A CM-T3530/03 MODULE IS POPULATED,

IT SHOULD NOT BE USED IN CASE A CM-T3517/05
SYSTEM IS USED

R63
348R/1%

R63
348R/1%

L20

MURATA_DLP11SN900SL2

L20

MURATA_DLP11SN900SL2

1

4 3

2

P23
1x4HDR

P23
1x4HDR

1
2
3
4

L12

MURATA_DLP11SN900SL2

L12

MURATA_DLP11SN900SL2

1

4 3

2

1 2 3 4

3 421

P17
USB_STACKED

1 2 3 4

3 421

P17
USB_STACKED

VBUS1

D-2

D+3

GND4

VBUS5

D-6

D+7

GND8

SHIELD9

SHIELD10

SHIELD11

SHIELD12

L21

MURATA_DLP11SN900SL2

L21

MURATA_DLP11SN900SL2

1

4 3

2

J4

AUDIO JACK 3.5mm, no sw., SMT

J4

AUDIO JACK 3.5mm, no sw., SMT

2

3

1

P19

CIF

P19

CIF

AF_AGND1

AF_VCC2

Y43

Y34

Y55

Y26

Y67

PCLK8

Y79

DGND10

Y811

XCLK12

Y913

DOVDD14

DVDD15

HREF16

PWDN17

VSYNC18

RESET19

SIO_C20

AVDD21

SIO_D22

AGND23

STROBE24

GREEN
(LEFT)

YELLOW
(RIGHT)

P16
RJ45 MAG LEDS TH

GREEN
(LEFT)

YELLOW
(RIGHT)

P16
RJ45 MAG LEDS TH

TDP1

TDN2

TDC3

RDP7

RDN8

RDC6

CHGND25
CHGND14

RA9

RK10

LK11

LA12

SHLD113

SHLD214

C78

220nF/50V

C78

220nF/50V

R67
4.75K/1%
R67
4.75K/1%

L13

MURATA_DLP11SN900SL2

L13

MURATA_DLP11SN900SL2

1

4 3

2

R65
10R
R65
10R

P15

Conn., B2B, 2x30, Socket

P15

Conn., B2B, 2x30, Socket

GND1

XR3

XL5

NC7

GND9

NC11

NC13

GND15

XRES17

NC19

GND21

B123

B325

B527

G029

G231

G433

GND35

R137

R339

R541

VDDIO43

GND45

GND47

DOUT49

DIN51

SCL53

HSYNC55

NC57

LED+59

YU 2

YL 4

GND 6

NC 8

NC 10

NC 12

NC 14

NC 16

NC 18

VDC 20

B0 22

B2 24

B4 26

GND 28

G1 30

G3 32

G5 34

R0 36

R2 38

R4 40

GND 42

NC 44

PCLK 46

DE 48

XCS 50

NC 52

VSYNC 54

NC 56

LED- 58

GND 60

4.7uF
C76

35V
1210

4.7uF
C76

35V
1210

R61
348R/1%
R61
348R/1%

P20

DR10SM

P20

DR10SM

1
3
5
7

2
4
6
8

9 10

R64
348R/1%
R64
348R/1%

C91

100pF

C91

100pF

P22
1x4HDR

P22
1x4HDR

1
2
3
4

L22

MURATA_DLP11SN900SL2

L22

MURATA_DLP11SN900SL2

1

4 3

2

L14

MURATA_DLP11SN900SL2

L14

MURATA_DLP11SN900SL2

1

4 3

2

J3

AUDIO JACK 3.5mm, no sw., SMT

J3

AUDIO JACK 3.5mm, no sw., SMT

2

3

1

GREEN
(LEFT)

YELLOW
(RIGHT)

P18
RJ45 MAG LEDS TH

GREEN
(LEFT)

YELLOW
(RIGHT)

P18
RJ45 MAG LEDS TH

TDP1

TDN2

TDC3

RDP7

RDN8

RDC6

CHGND25
CHGND14

RA9

RK10

LK11

LA12

SHLD113

SHLD214

R125
33R

R125
33R

R62
10R
R62
10R

C107

100nF

C107

100nF

C105

100nF

C105

100nF

M
IN

I-
U

S
B

  T
Y

P
E

-A
B

P8

M
IN

I-
U

S
B

  T
Y

P
E

-A
B

P8

VBUS1

D-2

D+3

ID4

GND5

CHASSIS6

CHASSIS7

CHASSIS8

CHASSIS9

C74

220nF/50V

C74

220nF/50V

R60
348R/1%
R60
348R/1%

C106

100nF

C106

100nF

C75

100pF

C75

100pF

P24
1x4HDR

P24
1x4HDR

1
2
3
4



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

VCC3_3

VCC3_3

VCC3_3

VCC3_3VCC_PER

VCC_PER

VCC_PER

VCC_PER VCC_PER

VCC_PER

VCC3_3

VCC3_3
VCC_PER

VCC3_3VCC_PER

VCC_CM
VCC_PER

VCC3_3
VCC_PER

VCC_PER
VCC3_3

VCC_PER

VCC_PER

VCC_PERUART1_CTS/GPIO1502
UART1_RTS/GPIO1492

UART1_RX/GPIO1512
UART1_TX/GPIO1482

UART1_CTS_C 6
UART1_RTS_C 6

UART1_RX_C 6,11
UART1_TX_C 6,11

McBSP3_DR/UART2_RTS/GPIO141_C 6
McBSP3_DX/UART2_CTS/GPIO140_C 6

McBSP3_FSX/UART2_RX/GPIO143_C 6,11
McBSP3_CLK/UART2_TX/GPIO142_C 6,11

McBSP3_DX/UART2_CTS/GPIO1402
McBSP3_DR/UART2_RTS/GPIO1412
McBSP3_CLKX/UART2_TX/GPIO1422
McBSP3_FSX/UART2_RX/GPIO1432

SPI4_CS0 6,7
SPI4_SOMI 6,7
SPI4_SIMO 6,7
SPI4_CLK 6,7

McBSP1_FSX/SPI4_CS0/GPIO1612
McBSP1_DR/SPI4_SOMI/GPIO1592
McBSP1_DX/SPI4_SIMO/GPIO1582

McBSP1_CLKR/SPI4_CLK/GPIO1562

GPIO612 nAUDIO_ENABLE 10

GPIO542 nPOWER_DOWN 3

MONITOR_SENSE3 MONITOR_SENSE_PER 2

GPIO1622 LVDS_SHDN 3

CHARGER_STATUS_PER 2CHRG_STATUS5

GPIO1672 USBHUB_nRESET 9

LCD_RST 6,7GPIO1572

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

8 13Monday, November 01, 2010

SB-T35x    08. LEVEL SHIFTERS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

8 13Monday, November 01, 2010

SB-T35x    08. LEVEL SHIFTERS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

8 13Monday, November 01, 2010

SB-T35x    08. LEVEL SHIFTERS

GPIO61 IS HIGH TO SHUT
DOWN AUDIO OUTPUT.
LOW FOR NORMAL
OPERATION

CHARGER 
STATUS
BIT
SHIFTER

AUDIO
ENABLE 
SHIFTER

SB-T35 USB
HUB RESET
SHIFTER

LVDS
TRANSMITTER
RESET
SHIFTER

DVI
TRANSMITTER
ENABLE
SHIFTER
(INVERTER)

DVI
TRANSMITTER
MONITOR SENSE
SHIFTER

BIDIRECTIONAL LEVEL SHIFTERS & BYPASS
OPEN DRAIN LEVEL SHIFTERS

GPIO167 IS HIGH FOR
SB-T35 USBHUB 
NORMAL OPERATION.
LOW FOR RESETTING THE
SB-T35 USB HUB

GPIO54 IS HIGH FOR 
DVI TRANSMITTER RESET.
LOW FOR NORMAL 
OPERATION

HIGH - CHARGING,
LOW - NOT CHARGING

GPIO162 IS
HIGH TO SHUT
DOWN THE 
LVDS 
TRANSMITTER 
AND LOW FOR
 NORMAL 
OPERATION

HIGH - A MONITOR IS
SENSED ON DVI OPTPUT.
LOW - NO MONITOR

DNP

DNP

DNP

DNP

GPIO157 IS 
HIGH FOR 
LCD ON 
P15/P7 RESET.
LOW FOR
NORMAL 
OPERATION

LCD
RESET
SHIFTER

DNP

DNP

DNP

DNP

DNP

DNP

R7
4.75K/1%
R7
4.75K/1%

R143

4.75K/1%

R143

4.75K/1%

R121

4.75K/1%

R121

4.75K/1%

C167

100nF

C167

100nF

GND

VCC

U23
7SZ07

GND

VCC

U23
7SZ07

42

3
5

R83

4.75K/1%

R83

4.75K/1%

C84

100nF

C84

100nF

C166

100nF

C166

100nF

R123
4.75K/1%

R123
4.75K/1%

GND

VCC

U25
7SZ07

GND

VCC

U25
7SZ07

42

3
5

R147 0RR147 0R

RN21
0R/8P4R
RN21
0R/8P4R

1
2
3
4

8
7
6
5

R124

4.75K/1%

R124

4.75K/1%

C101

100nF

C101

100nF

C98

100nF

C98

100nF

C82

100nF

C82

100nF

RN22
0R/8P4R
RN22
0R/8P4R

1
2
3
4

8
7
6
5

GND

VCC

U24
7SZ07GND

VCC

U24
7SZ07

42

3
5

C80

100nF

C80

100nF

C102

100nF

C102

100nF

R145 0RR145 0R

R85

4.75K/1%

R85

4.75K/1%

R151 0RR151 0R

RN23
0R/8P4R
RN23
0R/8P4R

1
2
3
4

8
7
6
5

R81

4.75K/1%

R81

4.75K/1%

C99

100nF

C99

100nF

R122

4.75K/1%

R122

4.75K/1%

R84
4.75K/1%

R84
4.75K/1%

GND

VCC

U3
7SZ05

GND

VCC

U3
7SZ05

42

3
5

U20

TXB0104

U20

TXB0104

VCCA1

A12

A23

A34

A45

GND7 OE 8

B4 10
B3 11
B2 12
B1 13

VCCB 14

NC6 NC 9

GND

VCC

U26
7SZ07

GND

VCC

U26
7SZ07

42

3
5

R146 0RR146 0R

C85

100nF

C85

100nF

R148 0RR148 0R

GND

VCC

U28
7SZ07GND

VCC

U28
7SZ07

42

3
5

R82

4.75K/1%

R82

4.75K/1%

C81

100nF

C81

100nF

U17

TXB0104

U17

TXB0104

VCCA1

A12

A23

A34

A45

GND7 OE 8

B4 10
B3 11
B2 12
B1 13

VCCB 14

NC6 NC 9

C79

100nF

C79

100nF

GND

VCC

U29
7SZ07GND

VCC

U29
7SZ07

42

3
5

R80
4.75K/1%

R80
4.75K/1%

R149 0RR149 0R

C15

100nF

C15

100nF

R52

4.75K/1%

R52

4.75K/1%

R150 0RR150 0R

U18

TXB0104

U18

TXB0104

VCCA1

A12

A23

A34

A45

GND7 OE 8

B4 10
B3 11
B2 12
B1 13

VCCB 14

NC6 NC 9



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

USBHUB_INT_BIAS

NON_REM0

CFG_SEL1

SB_USBHUBP3_DP

SB_USBHUBP3_DM

SB_USBHUBP4_DP

SB_USBHUBP4_DM

CFG_SEL0
NON_REM1

USBHUB_24MHZ_XTALIN
USBHUB_24MHZ_XTALOUT

VBUS_DET

CR_FILT

PLLFILT

NON_REM1

VBUS_DET

NON_REM0

CFG_SEL1

USBHUB_24MHZ_XTALIN

USBHUB_24MHZ_XTALOUT

CFG_SEL0

BC_EN[4]

BC_EN[3]

BC_EN[4]
BC_EN[3]

VCC3_3

VCC3_3

VCC3_3VCC3_3

VCC3_3

VCC3_3VCC3_3

VCC3_3

USBHUB_nRESET8

USB2_DM/USBHUBP1_DM 2

USB2_DP/USBHUBP1_DP 2

SB_USBHUBP1_DM 7

SB_USBHUBP1_DP 7

SB_USBHUBP2_DM 7

SB_USBHUBP2_DP 7

SB_USBHUBP1_nOVC13

SB_USBHUBP2_nOVC13 SB_USBHUBP2_EN 13

SB_USBHUBP1_EN 13

USB2_VBUS2,10

USB2_CPEN2,10

SB_USBHUBP2_EN13
SB_USBHUBP1_EN13

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

9 13Monday, November 01, 2010

SB-T35x    09. USB Hub
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

9 13Monday, November 01, 2010

SB-T35x    09. USB Hub
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

9 13Monday, November 01, 2010

SB-T35x    09. USB Hub

INTERNAL PU  ON
nOVC# INPUTS

USB HUB

DOWNSTREAM PORTS 3 AND 4 ARE DISABLED

DNP

DNP

USB HUB XTAL

NOTE: PLACE AS CLOSE AS POSSIBLE TO USB HUB IC.

DNP00 -> ALL PORTS ARE REMOVABLE
01 -> PORT 1 IS NON-REMOVABLE
10 -> PORT 1 & 2 ARE NON-REMOVABLE
11 -> PORT 1, 2 & 3 ARE NON-REMOVABLE

NOTE: see datasheet for more info

CONFIGURATION PROGRAMMING SELECTION

NON-REMOVABLE PORTS STRAP OPTION

00 -> DEFAULTS WITH SELF POWER
01 -> SMBus SLAVE
10 -> DEFAULTS WITH BUS POWER
11 -> I2C EEPROM CONTROLLED

NOTE: see datasheet for more info

USB HUB PROVISIONS

DNP

BATTERY CHARGING ON USB
STRAPS

ALL PORTS, 
BATTERY 
CHARGING
IS DISABLED

R94
4.75K/1%
R94
4.75K/1%

C349

100nF

C349

100nF

R101
4.75K/1%
R101
4.75K/1%

R100
4.75K/1%
R100
4.75K/1%

R99
4.75K/1%
R99
4.75K/1%

R96
4.75K/1%
R96
4.75K/1%

C168

33pF

C168

33pF

C344

100nF

C344

100nF

Upstream

Downstream 1

Downstream 2

Downstream 3

EEPROM/Config

Common

Downstream 4

U56

USB2514B-36QFN

Upstream

Downstream 1

Downstream 2

Downstream 3

EEPROM/Config

Common

Downstream 4

U56

USB2514B-36QFN

VBUS_DET27

nOCS113

USBDN1_DP 2

USBDN1_DM 1

PRTPWR1 12

nOCS217

USBDN2_DP 4

USBDN2_DM 3

PRTPWR2 16

nOCS319

USBDN3_DP 7

USBDN3_DM 6

PRTPWR3 18

SDA/SMBDATA/NON_REM1 22

SLC/SMBCLK/CFG_SEL0 24

HS_IND/CFG_SEL1 25

nRESET26 RBIAS 35

TEST11

VDD33 23
VDD33 15

VDD33 5

VDD33 10

CRFILT 14

XTALIN/CLKIN33

PLLFILT34

USBDN4_DP 9

USBDN4_DM 8

PRTPWR4 20nOCS421

XTALOUT32

SUSP_IND/LOCAL_PWR/NON_REM028

VDD33 29

USBDP_UP 31

USBDM_UP 30

VDD33 36

GND (PAD) 37

C350

100nF

C350

100nF

R
16

9
10

K
/1

%
R

16
9

10
K

/1
%

R98
4.75K/1%
R98
4.75K/1%

C343

100nF

C343

100nF

R184 0RR184 0R

R
89

10
K

/1
%

R
89

10
K

/1
%

C354

100nF

C354

100nF

C186

1uF

C186

1uF

C351

100nF

C351

100nF

R187
2.2K
R187
2.2K

R188 1K/1%R188 1K/1%

C165

1uF

C165

1uF

R186 0RR186 0R

X6

24.000MHz (100PPM)

X6

24.000MHz (100PPM)

1
3

2
4

RN32
4.7K/8P4R
RN32
4.7K/8P4R

1
2
3
4

8
7
6
5

R97
4.75K/1%
R97
4.75K/1%

C169

33pF

C169

33pF

C352

100nF

C352

100nF

C187

1uF

C187

1uF

R136
1M
R136
1M

R
17

0
10

K
/1

%
R

17
0

10
K

/1
%

RN31
4.7K/8P4R
RN31
4.7K/8P4R

1
2
3
4

8
7
6
5

R95
4.75K/1%
R95
4.75K/1%

R93

12.1K/1%

R93

12.1K/1%

R
90

10
K

/1
%

R
90

10
K

/1
%

C353

100nF

C353

100nF

C164

1uF

C164

1uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

RXD_OUTB

CAN_STB_PD

CAN_VCC

TXD_INA

CAN_GND

BUHP2CP

BUHP2CM

BUHP1CM

BUHP1CP

WLD_RES

WLD_SW

BCKLIGHT_FB

AMP_IN_R

AUDOUT_L_DC

AMP_IN_L

AUDOUT_R_DC

AUD_BYP

AUDOUT_L

AUDOUT_R

MUHP1CP

MUHP1CM

VCC3_3

VCC_5V
VCC3_3

VCC3_3 VCC_CM

VCC_CM

VCC_CM

VCC_5V

VCC_5V

VCC_5V

CAN_TX_3V32

CAN_RX_3V32

CMUSB1_DCEN13

CMUSBHP3_DCEN13

CMUSBHP2_DCEN13
CMUSBHP2_DC_nOVC13
CMUSBHP3_DC_nOVC13

SB_USBHUBP2_CP_EN13

SB_USBHUBP1_DCEN13

SB_USBHUBP2_DCEN13

SB_USBHUBP1_CP_EN13

CM_USBHUBP2_VBUS 7

CM_USBHUBP3_VBUS 7

USB1_VBUS 2,7

CAN_VCC 6

CAN_L 6

CAN_H 6

CAN_GND 6

WLD_OUT 7

WLD_CAT 7

GPIO582

AUDIO_OUT_R2

AUDIO_OUT_L2

nAUDIO_ENABLE8

AUDIO_OUT_L_F 7

AUDIO_OUT_R_F 7

SB_USB1_CP_VBUS 11,13

SB_USB1_DC_VBUS 11,13

SB_USB2_DC_VBUS 11,13

SB_USB2_CP_VBUS 11,13

USB2_CPEN2,9
USB2_VBUS 2,9

SB_USBHUBP2_DC_nOVC13
SB_USBHUBP1_DC_nOVC13

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

10 13Monday, November 01, 2010

SB-T35x    10. MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

10 13Monday, November 01, 2010

SB-T35x    10. MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

10 13Monday, November 01, 2010

SB-T35x    10. MISC

CURRENT CONFIGURATION
AMPLIFIER GAIN IS 1
ON BOTH CHANNELS

CAN ISOLATION, POWER & PHY

LCD BACKLIGHT POWER

PROVIDES POWER TO TOPPOLY LCD (P15)
DOES NOT PROVIDE POWER TO P8

AUDIO OUT AMPIFIER

USB POWER

SB-T35 USB
HUB PORT 2
CHARGE PUMP
POWER

SB-T35 USB
HUB PORT 1
CHARGE PUMP
POWER

MODULE USB PORT 2
VBUS SIGNAL

SB-T35 USB HUB
PORTS 1 & 2
DIRECT DC 5V
POWER

MODULE (TI DIRECT) USB
HOST (PORT 1)
DIRECT DC 5V POWER

MODULE USB HUB
PORTS 2 & 3
DIRECT DC 5V
POWER

Typical LED configuration 6 serially connected LED's
3.6V typical Vf x 6 = 21.6V 15-20mA

THIS CHARGE PUMP IS ONLY NEEDED TO
SIGNAL THE MODULE ASSEMBLED, THAT
VBUS IS ENABLED ON THIS USB PORT

NOTE: THIS PORT IS CONNECTED TO THE
SELF POWERED SB-T35 USB HUB, IT DOES
NOT ACTUALLY NEED VBUS

NOTE: WITH CM-T3517/05 THIS SIGNALS THE MODULE USB HUB PORT 1 OR HOST PORT 2.
DEPENDING ON CM-T3517 CONFIGURATION OPTIONS

U37

RYC8220-1M

U37

RYC8220-1M

EN_A1

FLG_A2

FLG_B3

EN_B4 OUT_B 5
GND 6
VCC 7

OUT_A 8

U38

AIC1845

U38

AIC1845

VOUT 1

GND2

SHDN3

C- 4

VIN5

C+ 6

D4
ZENER 24V
D4
ZENER 24V

U30

AIC1845

U30

AIC1845

VOUT 1

GND2

SHDN3

C- 4

VIN5

C+ 6

C179

2.2 uF ,4V,X5R

C179

2.2 uF ,4V,X5R

R66
1K/1%
R66
1K/1%

R75
20K/1%

R75
20K/1%

R68

2.2R

R68

2.2R

R78 20K/1%R78 20K/1%

C163

2.2 uF ,4V,X5R

C163

2.2 uF ,4V,X5R

L8

22uH, 0.5A

L8

22uH, 0.5A

1 2
U31

AIC1845

U31

AIC1845

VOUT 1

GND2

SHDN3

C- 4

VIN5

C+ 6

C87

100nF

C87

100nF

U35

TJA1050

U35

TJA1050

Vref5

TxD1

RxD4

S8

CANL 6

CANH 7

V
C

C
3

G
N

D
2

C182

2.2 uF ,4V,X5R

C182

2.2 uF ,4V,X5R

R91

100K

R91

100K

100uFC93 100uFC93

R76
20K/1%

R76
20K/1%

U21TPA102DGN U21TPA102DGN

IN_A8

IN_B4 OUT_B 5

VDD 6

OUT_A 7

BYPASS1 GND 2

SHUTDOWN3

U34

ADuM1201 / ISO7221xD

U34

ADuM1201 / ISO7221xD

VCC11

GND14

OUTA2

INB3

GND2 5

OUTB 6

INA 7

VCC2 8

U36

RYC8220-1M

U36

RYC8220-1M

EN_A1

FLG_A2

FLG_B3

EN_B4 OUT_B 5
GND 6
VCC 7

OUT_A 8

C177

100nF

C177

100nF

C92 1uFC92 1uF

R1440R R1440R

U16

AIC1647

U16

AIC1647

SW 1

GND2 FB 3

SHDN4

VIN5

R69

2.2R

R69

2.2R

C180

2.2 uF ,4V,X5R

C180

2.2 uF ,4V,X5R

D3
BAT54WS
D3
BAT54WS

R77 20K/1%R77 20K/1%

C170

2.2 uF ,4V,X5R

C170

2.2 uF ,4V,X5R

10uF

C94

10uF

C94

C162

2.2 uF ,4V,X5R

C162

2.2 uF ,4V,X5R

R921K/1% R921K/1%

C178

2.2 uF ,4V,X5R

C178

2.2 uF ,4V,X5R

10uF

C88

10uF

C88

C183

2.2 uF ,4V,X5R

C183

2.2 uF ,4V,X5R

R79
1K/1%

R79
1K/1%

U39

RYC8220-1M

U39

RYC8220-1M

EN_A1

FLG_A2

FLG_B3

EN_B4 OUT_B 5
GND 6
VCC 7

OUT_A 8

R1410R R1410R

100uFC89 100uFC89

C77

1uF/X5R/6.3V

C77

1uF/X5R/6.3V

C181

2.2 uF ,4V,X5R

C181

2.2 uF ,4V,X5R

C90 1uFC90 1uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A
N_LK_EN

BKBAT_P

PER_ISn3V3

1V8SRC

3V3SRC

VCC1_8 VCC3_3

LCD_VIO

VCC_PER

VCC_PER

VCC_CM

VCC_PER

VCC3_3

VCC3_3

VCC1_8 VCC_PER

LCD_D132
LCD_D142

LCD_D13_T 3,6,7
LCD_D14_T 3,6,7

LCD_D222

LCD_PCLK_T2 6,7

LCD_D22_T 3
LCD_HSYNC_T 3,6,7LCD_HSYNC2

LCD_PCLK2

LCD_D32 LCD_D3_T 3,6,7

LCD_PCLK_T 3

LCD_D22 LCD_D2_T 3,6,7
LCD_D42 LCD_D4_T 3,6,7

LCD_ACBIAS_T 3,6,7LCD_ACBIAS2

LCD_D16_T 3,6,7LCD_D162

LCD_D92 LCD_D9_T 3,6,7
LCD_D72 LCD_D7_T 3,6,7

LCD_D19_T 3

LCD_D62 LCD_D6_T 3,6,7

LCD_D192

LCD_D52 LCD_D5_T 3,6,7

LCD_D212 LCD_D21_T 3

LCD_D82 LCD_D8_T 3,6,7
LCD_D102
LCD_D112

LCD_D10_T 3,6,7
LCD_D11_T 3,6,7

LCD_D182 LCD_D18_T 3

LCD_VSYNC_T 3,6,7LCD_VSYNC2

LCD_D202 LCD_D20_T 3

LCD_D122 LCD_D12_T 3,7
LCD_D152 LCD_D15_T 3,6,7

LCD_D232 LCD_D23_T 3

LCD_D172 LCD_D17_T 3,6,7

LCD_D02 LCD_D0_T 3,7
LCD_D12 LCD_D1_T 3,6,7

CHARGER_ENABLE5
BKBAT2

nRST_IN2

MMC_BOOT2

NAND_LOCK2

EPROM_WP2

PER_IS3V32

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

11 13Monday, November 01, 2010

SB-T35x    11. JUMPERS &  MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

11 13Monday, November 01, 2010

SB-T35x    11. JUMPERS &  MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

11 13Monday, November 01, 2010

SB-T35x    11. JUMPERS &  MISC

place
termination
near CAMI
connectors

LCD TERMINATION

Place R88 Where LCD_PCLK_T splits to Two Traces.

JUMPERS, BUTTONS & SETTINGS

LCD VOLTAGE
REFERECE
SELECTOR

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> LCD BUS IS 1.8V REFERENCED
2&3 -> LCD BUS IS 3.3V REFERENCED
NONE -> LCD BUS IS DISABLED

NOTE: WHEN RUNNING WITH CM-T3517 
LCD BUS IS ALWAYS 3.3V REFERENCED
REGARDLESS OF THIS JUMPER SETTING

CHARGER CONTROL

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> CHARGE IS ALWAYS DISABLED
NONE -> CHARGER IS ENABLED, WHEN AN EMPTY
BATTERY & THE DC SUPPLY ARE PRESENT,
CHARGING WILL START 

BACKUP BATTERY

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> BACKUP BATTERY
           IS CONNECTED TO MODULE
NONE -> BACKUP BATTERY IS
               DISCONNECTED FROM
               MODULE

NAND LOCK SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> MODULE NAND IS WRITE PROTECTED
NONE -> MODULE NAND IS WRITABLE
NOTE: CIRCUIT NOT ASSEMBLED BY DEFAULT

RESET BUTTON

MMC BOOT BUTTON/JUMPER

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> ALWAYS ATTEMPT TO BOOT FROM MMC FIRST
NONE -> IF SW1 IS PRESSED ATTEMPT TO BOOT FROM MMC FIRST,
OTHERWISE BOOT FROM MODULE NAND

EEPROM
WRITE
PROTECT

WHEN RESISTOR ASSEMBLED,
MODULE EEPROM IS WRITABLE

DECOUPLING CAPS

DNP

MODULE IO VOLTAGE AUTO-SELECTOR

OPERATION DESCRIPTION:
The signal PER_IS3V3 is connected to
the CM-T3XXX module through connectors
P1 & P2. 
When CM-T3517 is populated --> PER_IS3V3 is driven 
high therefore Transitors Q9 & Q8 are open, and tra nsistors
Q6 & Q7 are closed. --> VCC_PER is 3.3V
When CM-T3X30 is populated --> PER_IS3V3 is not dri ven, so it's low, 
therefore Transitors Q9 & Q8 are closed, and transi stors
Q6 & Q7 are open. --> VCC_PER is 1.8V

C135

100nF

C135

100nF

Q16
NDS335N
Q16
NDS335N

1

3
2

C117

100nF

C117

100nF

C130

100nF

C130

100nF

C116

100nF

C116

100nF

C108

100nF

C108

100nF

RN16
33R/8P4R
RN16
33R/8P4R

1
2
3
4

8
7
6
5

C160

100nF

C160

100nF

E1E1

R176
4.75K/1%

R176
4.75K/1%

C112

100nF

C112

100nF

E6E6

C120

100nF

C120

100nF

R71
1.15K/1%
R71
1.15K/1%

RN15
33R/8P4R

RN15
33R/8P4R

1
2
3
4

8
7
6
5

C121

100nF

C121

100nF

C161

100nF

C161

100nF

C150

100nF

C150

100nF

C148

100nF

C148

100nF

C143

100nF

C143

100nF

C113

100nF

C113

100nF
RN14
33R/8P4R
RN14
33R/8P4R

1
2
3
4

8
7
6
5

C158

100nF

C158

100nF

C115

100nF

C115

100nF

SW2SW2

3 4
21

E5E5

C122

100nF

C122

100nF

Q9
NDS332P
Q9
NDS332P

1

3 2

C141

100nF

C141

100nF

E8E8

1 3

2

Q6
NDS332P
Q6
NDS332P

1

32

100uF

C173

100uF

C173

RN13
33R/8P4R
RN13
33R/8P4R

1
2
3
4

8
7
6
5

C157

100nF

C157

100nF

C156

100nF

C156

100nF

C153

100nF

C153

100nF

C146

100nF

C146

100nF

RN10
33R/8P4R

RN10
33R/8P4R

1
2
3
4

8
7
6
5

SW1SW1

3 4
21

C136

100nF

C136

100nF

C147

100nF

C147

100nF

C118

100nF

C118

100nF

C155

100nF

C155

100nF

RN12
33R/8P4R
RN12
33R/8P4R

1
2
3
4

8
7
6
5

100uF

C174

100uF

C174

C134

100nF

C134

100nF

C128

100nF

C128

100nF

C111

100nF

C111

100nF

R177
4.75K/1%

R177
4.75K/1%

C124

100nF

C124

100nF

C151

100nF

C151

100nF

C159

100nF

C159

100nF

C154

100nF

C154

100nF

RN11
33R/8P4R
RN11
33R/8P4R

1
2
3
4

8
7
6
5

C142

100nF

C142

100nF

C145

100nF

C145

100nF

C114

100nF

C114

100nF

C149

100nF

C149

100nF

C109

100nF

C109

100nF

C123

100nF

C123

100nF

C140

100nF

C140

100nF

Q8
NDS332P
Q8
NDS332P

1

32

+
-

BT1
ML1220

+
-

BT1
ML1220

C133

100nF

C133

100nF

Q7
NDS332P
Q7
NDS332P

1

3 2

C110

100nF

C110

100nF

R88
22R

R88
22R

R70

0R

R70

0R

C139

100nF

C139

100nF

C152

100nF

C152

100nF

E7E7

C119

100nF

C119

100nF

R72 0RR72 0R



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

CMUSBHP1_nOVC2

ETH_BOOT_PU2

PWR_GOOD2

SYS_nIRQ/GPIO02

3517_AUDIO_R_IN2

MIC_BIAS2

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

12 13Monday, November 01, 2010

SB-T35x    12. MECHANICS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

12 13Monday, November 01, 2010

SB-T35x    12. MECHANICS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3B

12 13Monday, November 01, 2010

SB-T35x    12. MECHANICS

5mm MECH.
HOLES

6mm MECH.
HOLES

3.5mm SCREWS 4mm SPACERSSTANDOFFS

MECHANICAL NUTS

JUMPERS

TEST POINTS THESE TEST POINTS ARE
AVAILABLE ONLY WITH
CM-T3517/05 MODULE.
THEY ARE NOT
CONNECTED WHEN THE
CM-3530/03 IS
ASSEMBLED

THESE TEST POINTS AVAILABLE WHEN EITHER A
CM-T351705 OR THE CM-3530/03 IS ASSEMBLED

JP5

Jumper, black, 100mil

JP5

Jumper, black, 100mil

H10

HOLE M2

H10

HOLE M2

H4H4

1

SP4

SPACER_HEX_M2X4MM

SP4

SPACER_HEX_M2X4MM

1

H5H5

1

STANDOFF1

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF1

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

H1H1

1

TP4TP4

JP2

Jumper, black, 100mil

JP2

Jumper, black, 100mil

NUT2

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT2

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

3.5mm M2

PAN HEAD

SCREW2
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD

SCREW2
SCREW, M2, 3.5mm, PAN HEAD

NUT6

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT6

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

TP3TP3

SP1

SPACER_HEX_M2X4MM

SP1

SPACER_HEX_M2X4MM

1

H8

HOLE M2

H8

HOLE M2

JP6

Jumper, black, 100mil

JP6

Jumper, black, 100mil

JP9

Jumper, black, 100mil

JP9

Jumper, black, 100mil

NUT1

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT1

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width
TP7TP7

H7

HOLE M2

H7

HOLE M2

H9

HOLE M2

H9

HOLE M2

H2H2

1

JP3

Jumper, black, 100mil

JP3

Jumper, black, 100mil

STANDOFF6

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF6

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

NUT5

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT5

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

STANDOFF5

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF5

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

SP2

SPACER_HEX_M2X4MM

SP2

SPACER_HEX_M2X4MM

1

TP5TP5

3.5mm M2

PAN HEAD

SCREW3
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD

SCREW3
SCREW, M2, 3.5mm, PAN HEAD

STANDOFF4

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF4

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

TP2TP2

JP7

Jumper, black, 100mil

JP7

Jumper, black, 100mil

STANDOFF3

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF3

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

NUT4

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT4

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

STANDOFF2

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

STANDOFF2

Spacer,(Standoff) Hexagonal+ext, M3/L12mm+M3/L6mm, Brass, Nickel coating

SP3

SPACER_HEX_M2X4MM

SP3

SPACER_HEX_M2X4MM

1
H3H3

1

JP4

Jumper, black, 100mil

JP4

Jumper, black, 100mil

H6H6

1

TP1TP1

JP1

Jumper, black, 100mil

JP1

Jumper, black, 100mil
3.5mm M2

PAN HEAD

SCREW1
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD

SCREW1
SCREW, M2, 3.5mm, PAN HEAD

JP8

Jumper, black, 100mil

JP8

Jumper, black, 100mil

3.5mm M2

PAN HEAD

SCREW4
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD

SCREW4
SCREW, M2, 3.5mm, PAN HEAD

NUT3

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT3

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

CH1_DIR
CH2_DIR

PSW_C

PSW_C

PSW_nC
VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC_PER

VCC_5V

VCC3_3 VCC1_8

VCC_PER

VCC_CM

VCC_DCVCC_BAT

SB_USBHUBP1_DCEN 5
SB_USBHUBP2_DCEN 5

CMUSBHP2_DCEN 5
CMUSBHP3_DCEN 5

CMUSB1_DCEN 5

SB_USBHUBP1_DC_nOVC5
SB_USBHUBP2_DC_nOVC5

CMUSBHP2_DC_nOVC 5
CMUSBHP3_DC_nOVC 5

SB_USBHUBP1_EN5
SB_USBHUBP2_EN5

CMUSBHP2_EN5
CMUSBHP3_EN5

CMUSB1_EN5

SB_USBHUBP1_nOVC5
SB_USBHUBP2_nOVC5

CMUSBHP2_nOVC5
CMUSBHP3_nOVC5

SB_USB2_CP_VBUS 5
SB_USB2_DC_VBUS 5

SB_USBHUBP2_VBUS5

SB_USBHUBP1_VBUS5

SB_USBHUBP1_EN5 SB_USBHUBP1_CP_EN 5

SB_USBHUBP2_EN5 SB_USBHUBP2_CP_EN 5

SB_USBHUBP1_EN5

SB_USBHUBP2_EN5

SB_USBHUBP1_CP_EN 5

SB_USBHUBP2_CP_EN 5

SB_USBHUBP1_nOVC5
SB_USBHUBP2_nOVC5

CMUSBHP2_nOVC5
CMUSBHP3_nOVC5

SB_USBHUBP1_DC_nOVC5
SB_USBHUBP2_DC_nOVC5
CMUSBHP2_DC_nOVC 5
CMUSBHP3_DC_nOVC 5

CMUSBHP2_EN5
CMUSBHP3_EN5

CMUSB1_EN5

CMUSBHP2_DCEN 5
CMUSBHP3_DCEN 5

CMUSB1_DCEN 5

SB_USBHUBP1_EN5

SB_USBHUBP2_EN5

SB_USBHUBP1_DCEN 5

SB_USBHUBP2_DCEN 5

I2C2_SCL/GPIO1682

I2C2_SDA/GPIO1832 5V_I2C2_SDA 4

5V_I2C2_SCL 4

CAM_D2_CON2,6,7

CAM_D4_CON2,6,7
CAM_D3_CON2,6,7

CAM_D6_CON2,6,7

CAM_D5_CON2,6,7

CAM_D8_CON2
CAM_D7_CON2,6,7

CAM_D9_CON 2
CAM_XCLKA_CON 2,6,7

CAM_PCLK_CON2,6,7

CAM_HS_CON 2,6,7

CAM_STROBE_CON 2,6,7

CAM_FLD/CAM_RST2,6,7
CAM_VS_CON 2,6,7

McBSP3_FSX/UART2_RX/GPIO143_C 6,8
McBSP3_CLK/UART2_TX/GPIO142_C 6,8UART1_RX_C6,8

UART1_TX_C6,8

CAM_D1_CON 2,6,7
CAM_D0_CON 2,6,7

SB_USB1_CP_VBUS 5
SB_USB1_DC_VBUS 5

SB_USB1_DC_VBUS 10,13SB_USB1_CP_VBUS10,13

SB_USBHUBP1_VBUS 7,13

SB_USB2_DC_VBUS 10,13SB_USB2_CP_VBUS10,13

SB_USBHUBP2_VBUS 7,13

PSW_C5

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

13 13Monday, November 01, 2010

SB-T35x    12. MECHANICS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

13 13Monday, November 01, 2010

SB-T35x    12. MECHANICS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8000351003
1.3Custom

13 13Monday, November 01, 2010

SB-T35x    12. MECHANICS

BATTERY POWERED 
DESIGN

FOR BATTERY POWERED DESIGNS, 
POPULATE RN26 AND REMOVE ALL THE OTHER 
COMPONENTS IN THIS SECTION
USB VBUS IS NOT PROVIDED AT HEADERS
P22, P23 AND P24 WITH THIS
CONFIGURATION

DO NOT ASSEMBLE OTHER USB POWER CONTROL OPTIONS 
WHEN THIS OPTION IS ASSEMBLED

DC POWERED DESIGN

TO MAKE VBUS AVAILABE ON USB PORTS ONLY WHEN THE
SYSTEM IS POWERED BY A DC 5V SUPPLY, 
ASSEMBLE RN27, RN28, RN29
AND DISASSEMBLE ALL THE OTHER 
COMPONENTS IN THIS SECTION

DO NOT ASSEMBLE OTHER USB POWER CONTROL OPTIONS 
WHEN THIS OPTION IS ASSEMBLED

USB POWER SOURCE AUTO-SELECTOR
(ASSEMBLED BY DEFAULT)

VBUS SUPPLY CIRCUIT IS AUTOMATICALLY SELECTED WHEN THIS OPTION IS ASSEMBLED

(DC POWERED SYSTEM --> USB VBUS IS SUPPLIED BY U36,  U37 AND U39 (up to 500mA))

(BATTERY POWERED SYSTEM --> USB VBUS SUPPLIED BY CH ARGE PUMP (U30 AND U38) 
(up to 100mA), VBUS IS NOT PROVIDED AT P22, P23 AND  P24 IN THIS MODE)

USB POWER CONTROL OPTIONS (ONLY ONE OPTION SHOULD BE POPULATED)

DO NOT ASSEMBLE OTHER USB POWER
CONTROL OPTIONS 
WHEN THIS OPTION IS ASSEMBLED

I2C LEVEL SHIFER
(NOT ASSEMBLED)

DNP

DNP

PRODUCTION PROVISIONS

CAMERA LOOPBACK

UART LOOPBACK

ALL COMPONENTS IN THIS
SECTION SHOULD BE INSTALLED
ONLY FOR PRODUCTION PURPOSES.

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> VCC_PER IS 1.8V (SUITABLE FOR CM-T3530/03)
2&3 -> VCC_PER IS 3.3V (SUITABLE FOR CM-T3517/05)

NOTE: ONE OF THE TWO OPTIONS MUST BE SELECTED

MODULE TYPE SELECTOR
NOTE: THIS IS AN
OPTIONAL (MAUAL)
POWER SELECTOR.
TO SELECT POWER 
SOURCE MANUALLY, 
ASSEMBLE E2
DISASSEMBLE
Q4, Q5, R159, C70 
AND D5

MAUAL SYSTEM
POWER SOURCE
SELECTOR

WHEN ASSEMBLED ONLY:
SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> SYSTEM IS POWERED FROM DC INPUT (J1/P6)
2&3 -> SYSTEM IS POWERED FROM BATTERY INPUT (P5)
NONE -> SYSTEM POWER IS OFF

DNP

SB-T35 USB HUB PORT 1
POWER SOURCE SELECTOR

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> SB-T35 USB HUB PORT1 (P17 TOP) IS POWERED BY  A CHARGE PUMP (100mA MAX)
2&3 -> SB-T35 USB HUB PORT1 (P17 TOP) IS POWERED BY  DC 5V FROM J1 (500mA MAX)
NONE -> USB (P17 BOTTOM) POWER IS OFF

SB-T35 USB HUB PORT 2
POWER SOURCE SELECTOR

SHORTED PINS -> OPERATION DESCRIPTION
1&2 -> SB-T35 USB HUB PORT1 (P17 BOTTOM) IS POWERED  BY A CHARGE PUMP (100mA MAX)
2&3 -> SB-T35 USB HUB PORT1 (P17 BOTTOM) IS POWERED  BY DC 5V FROM J1 (500mA MAX)
NONE -> USB (P17 BOTTOM) POWER IS OFF

DNP
DNP

DNP

ADDITIONAL POWER PROVISIONS - DO NOT POPULATE THE C OMPONENTS IN THIS SECTION.

NOTE: THIS IS AN
OPTIONAL (MAUAL)
VCC_PER VOLTAGE
SELECTOR.
TO SELECT POWER 
SOURCE MANUALLY, 
ASSEMBLE E9
DISASSEMBLE
Q7, Q6, Q9, Q8, Q16,
R176 AND R177

NOTE: THIS IS AN OPTIONAL (MAUAL) USB VBUS POWER SO URCE SELECTOR.
TO SELECT USB POWER SOURCE MANUALLY, ASSEMBLE E3, E4
DISASSEMBLE ALL THE COMPONENTS IN "USB POWER CONTROL OPTIONS"

NOTE: THIS IS AN OPTIONAL (MAUAL) USB VBUS POWER SO URCE SELECTOR.
TO SELECT POWER USB SOURCE MANUALLY, ASSEMBLE E3, E4
DISASSEMBLE ALL THE COMPONENTS IN "USB POWER CONTROL OPTIONS"

R1330R R1330R

RN27
0R/8P4R
RN27
0R/8P4R

1
2
3
4

8
7
6
5

R1310R R1310R

E2E2
13

2

Q18

NDS335N

Q18

NDS335N

1

3
2

RN28
0R/8P4R
RN28
0R/8P4R

1
2
3
4

8
7
6
5

U13

74VCX163245

U13

74VCX163245

1A1A6

1A2B5

1A3B6

1A4C5

1A5C6

1A6D5

1A7D6

1A8E5

2A1E6

2A2F5

2A3F6

2A4G5

2A5G6

2A6H5

2A7H6

2A8J6

1B1 A1

1B2 B2

1B3 B1

1B4 C2

1B5 C1

1B6 D2

1B7 D1

1B8 E2

2B1 E1

2B2 F2

2B3 F1

2B4 G2

2B5 G1

2B6 H2

2B7 H1

2B8 J1

OE1A4

OE2J4

1AtB/1BtAA3

2AtB/2BtAJ3

VCCA C4

VCCA G4

VCCB C3

VCCB G3

GND D3

GND E3

GND F3

GND D4

GND E4

GND F4

NCB3

NCB4

NCH3

NCH4

Q24 NDS335NQ24 NDS335N

1

32

C356

100nF

C356

100nF

R1350R R1350R

R1280R R1280R

E9E9

13

2

GND

VCC

U43
7SZ07GND

VCC

U43
7SZ07

42

3
5

R1804.75K/1% R1804.75K/1%

RN25
4.7K/10P8R
RN25
4.7K/10P8R

1
2
3
4

5

7
6

10
9
8

100uF

C358

100uF

C358

RN29
0R/8P4R
RN29
0R/8P4R

1
2
3
4

8
7
6
5

100uF

C359

100uF

C359

Q19

NDS335N

Q19

NDS335N

1

3
2

R1794.75K/1% R1794.75K/1%

Q17

NDS335N

Q17

NDS335N

1

3
2

R185
4.75K/1%

R185
4.75K/1%

R1340R R1340R

R1320R R1320R

E4E4

13

2

RN26
0R/8P4R
RN26
0R/8P4R

1
2
3
4

8
7
6
5

Q22 NDS335NQ22 NDS335N

1

32

RN30
0R/8P4R
RN30
0R/8P4R

1
2
3
4

8
7
6
5

RN24
4.7K/8P4R
RN24
4.7K/8P4R

1
2
3
4

8
7
6
5

R1784.75K/1% R1784.75K/1%

R1300R R1300R

GND

VCC

U42
7SZ07GND

VCC

U42
7SZ07

42

3
5

R1260R R1260R

RN18
4.7K/8P4R
RN18
4.7K/8P4R

1 2 3 4

8 7 6 5

R1290R R1290R

100uF

C59

100uF

C59

R1270R R1270R

R183
4.75K/1%

R183
4.75K/1%

100uF

C58

100uF

C58

C357

100nF

C357

100nF

E3E3

13

2


